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1. Solve 2.25x+10.25=2.20x+30.75 ek Dt (02 e e =l e i
—8x+2y=10
2. Solve 4x+2=6x+22 14. Parallel, perpendicular, or neither?
I
=—x+1
53
3. Solve 6x+5=4x+5 y+3x=-7
1
4. Solve 2(x+1)=2x+10 IS S =il
5. Solve 4(x+2)=x+3x+8 16. Graph 2x+3y=12
1 2% x 17. Write the equation of the line that passes
S BONE s Rt ' through (—4,60) with slope m=~—2.
7. Solve for A if A= P+ Prt and 18. Solve the system
6 2x+3y=5

=24%, P=1000, t=—
{ 3 12 4x+5y=9

8. Solvefory. 4x+3y=11 19. Solve the system

2x+3y=S5

4x+6y=8
9. Solveforx. 2x+8y =20

20. Solve the system
10.1s (0,—-2) a solution of 3x-5y=107? 2x-3y=6
4x-6y=12

11.Is (1,2) asolution of 5x—2y =82 4D

12. Solve -2x+8<2x-12



3723\3
22. Simplify (5;'5’: )

23. Simplify (-2x’y*)(4x"")
24. (4x* —8x—1)~(2x* -10x-11)
25. (3x—5)(2x+3)

26. (4x+3)(4x-3)

27. (4x-3)’

28. (2x+3)(x*—8x-5)

2x* +12x+12
' x+2

29
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